
Time: 10 Minutes Paper G.Scince 4th (T-1) Total Marks: 10

2nd Month, 3rd Week, 1st  Day Unit No 2: Competition amongst Organisms

Q.No.1. Write the short answers. 

(i) On which all the organism living in an ecosystem depend?   (3)



_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

(ii) What happened when their are limited resources in an ecosystem?  (3)



_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

(iii) The animals which live in a grassland must be very alert and fast

runners to survive in that envirnoment. Why?  (3)




_________________________________________________________________

_________________________________________________________________

_________________________________________________________________
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